# On the Hyers-Ulam stability problem for quadratic multi-dimensional mappings 

John Michael Rassias

Summary. In 1940 S. M. Ulam proposed the well-known Ulam stability problem. In 1941 D. H. Hyers solved this problem for linear mappings. According to P. M. Gruber (1978) this kind of stability problems is of particular interest in probability theory and in the case of functional equations of different types. In 1982-1999 we solved the above Ulam problem for different mappings. In this paper we solve the Hyers-Ulam stability problem for quadratic multi-dimensional mappings.

Mathematics Subject Classification (2000). 39B.
Keywords. General stability problem, Hyers-Ulam stability, square of the quadratic weighted mean, quadratic mapping.

## 1. Introduction

In 1940 and in 1968 S. M. Ulam [16] proposed the general Ulam stability problem: "When is it true that by slightly changing the hypotheses of a theorem one can still assert that the thesis of the theorem remains true or approximately true?" In 1941 D. H. Hyers [4] solved this problem for linear mappings. According to P. M. Gruber [3] (1978) this kind of stability problems is of particular interest in probability theory and in the case of functional equations of different types. In 1995 G. L. Forti [2] published a survey paper which contained more information than any other publication relevant to the theory of functional equations. In 1982-1999 we ([5]-[15]) solved the above Ulam problem for different mappings. In particular, in 1996 we [13] solved the Hyers-Ulam stability problem for quadratic mappings $Q: X \rightarrow Y$ satisfying the quadratic functional equation

$$
Q\left(a_{1} x_{1}+a_{2} x_{2}\right)+Q\left(a_{2} x_{1}-a_{1} x_{2}\right)=\left(a_{1}^{2}+a_{2}^{2}\right)\left[Q\left(x_{1}\right)+Q\left(x_{2}\right)\right]
$$

for every $x_{1}, x_{2} \in X$, and fixed reals $a_{1}, a_{2} \neq 0$, where $X$ and $Y$ are real linear spaces. In this paper we solve the Hyers-Ulam stability problem for quadratic
mappings $Q: X \rightarrow Y$ satisfying the more general quadratic functional equation

$$
Q\left(\sum_{i=1}^{n} a_{i} x_{i}\right)+\sum_{1 \leq i<j \leq n} Q\left(a_{j} x_{i}-a_{i} x_{j}\right)=m \sum_{i=1}^{n} Q\left(x_{i}\right)
$$

for every $x_{i} \in X(i=1,2, \ldots, n)$, and fixed reals $a_{i} \neq 0(i=1,2, \ldots, n)$, where $n \geq 2$ is arbitrary, but fixed such that

$$
0<m=\sum_{i=1}^{n} a_{i}^{2} \neq\left[1+\binom{n}{2}\right] / n
$$

To the best of our knowledge the afore-mentioned functional equation is established for the first time for $n>2$.

Definition 1.1. Let $X$ and $Y$ be real linear spaces. Let $a=\left(a_{1}, a_{2}, \ldots, a_{n}\right) \neq$ $(0,0, \ldots, 0)$ with $a_{i} \in \mathbb{R}-\{0\}(i=1,2, \ldots, n)$, where $\mathbb{R}:=$ the set of reals. Then a mapping $Q: X \rightarrow Y$ is called quadratic with respect to $a$ if the functional equation

$$
\begin{equation*}
Q\left(\sum_{i=1}^{n} a_{i} x_{i}\right)+\sum_{1 \leq i<j \leq n} Q\left(a_{j} x_{i}-a_{i} x_{j}\right)=m \sum_{i=1}^{n} Q\left(x_{i}\right) \tag{1}
\end{equation*}
$$

holds for every vector $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in X^{n}$, and fixed real $a \neq 0$ such that

$$
0<m=\sum_{i=1}^{n} a_{i}^{2} \neq\left[1+\binom{n}{2}\right] / n
$$

where $n$ is arbitrary but fixed and equals to $2,3,4, \ldots$.
We note that if we set $Q(x)=x^{2}$ for $x \in \mathbb{R}$, then the mapping $Q: \mathbb{R} \rightarrow \mathbb{R}$ is quadratic with respect to any $a \in \mathbb{R}^{n}, a \neq 0$.

Definition 1.2. Let $X$ and $Y$ be real linear spaces, $Q: X \rightarrow Y$ be a mapping and $a=\left(a_{1}, a_{2}, \ldots, a_{n}\right) \neq(0,0, \ldots, 0)$ with $a_{i} \in \mathbb{R}(i=1,2, \ldots, n)$. For $x \in X$ and $m=\sum_{i=1}^{n} a_{i}^{2}>1: m \neq\left[1+\binom{n}{2}\right] / n$, where $n$ is arbitrary but fixed and equals to $2,3,4, \ldots$, set

$$
\bar{Q}^{a}(x)=\sum_{i=1}^{n} Q\left(a_{i} x\right) / \sum_{i=1}^{n} a_{i}^{2} .
$$

Then the mapping $\bar{Q}^{a}: X \rightarrow Y$ is called the square of the quadratic weighted mean of $Q$ with respect to $a$.

For every $x \in \mathbb{R}$ set $Q(x)=x^{2}$. Then the mapping $\bar{Q}^{a}: \mathbb{R} \rightarrow \mathbb{R}$ is quadratic, such that $\bar{Q}^{a}(x)=x^{2}$. Denoting by $\sqrt{\overline{x_{w}^{2}}}$ the quadratic weighted mean, we note that the above-mentioned mapping $\bar{Q}^{a}$ is an analogous case to the square of the quadratic weighted mean employed in mathematical statistics: $\overline{x_{w}^{2}}=\sum_{i=1}^{n} w_{i} x_{i}^{2} / \sum_{i=1}^{n} w_{i}$, with weights $w_{i}=a_{i}^{2}$, data $x_{i}=x$, and $Q\left(a_{i} x\right)=\left(a_{i} x\right)^{2}: i=1,2, \ldots, n$, where $n$ is arbitrary but fixed and equals to $2,3,4, \ldots$.

If $Q: X \rightarrow Y$ is quadratic with respect to $a=\left(a_{1}, a_{2}, \ldots, a_{n}\right)$ such that $m=\sum_{i=1}^{n} a_{i}^{2}>0$ and $m \neq\left[1+\binom{n}{2}\right] / n: n=2,3,4, \ldots$, then we have

$$
\begin{equation*}
Q\left(m^{p} x\right)=\left(m^{p}\right)^{2} Q(x) \tag{2}
\end{equation*}
$$

for every $x \in X$ and any $p \in \mathbb{N}$.
In fact, substitution of $x_{i}=0(i=1,2, \ldots, n)$ in equation (1) yields

$$
Q(0)+\binom{n}{2} Q(0)=m n Q(0)
$$

or

$$
\begin{equation*}
Q(0)=0 . \tag{3}
\end{equation*}
$$

For $p=0(2)$ is trivial.
Substituting $x_{1}=x, x_{j}=0(j=2,3, \ldots, n)$ in equation (1) and using (3) one gets that

$$
Q\left(a_{1} x\right)+\sum_{j=2}^{n} Q\left(a_{j} x\right)+\binom{n-1}{2} Q(0)=m[Q(x)+(n-1) Q(0)]
$$

or

$$
\begin{equation*}
\bar{Q}^{a}(x)=Q(x) \tag{4}
\end{equation*}
$$

holds for every $x \in X$.
Moreover substituting $a_{i} x(i=1,2, \ldots, n)$ for $x_{i}$ in equation (1) and using (3) one finds

$$
Q(m x)+\binom{n}{2} Q(0)=m \sum_{i=1}^{n} Q\left(a_{i} x\right)
$$

or

$$
\bar{Q}^{a}(x)=m^{-2} Q(m x)
$$

which holds for every $x \in X$.
From this and (4), we get

$$
Q(m x)=(m)^{2} Q(x)
$$

Assume (2) is true. From this, with $m^{p} x$ in place of $x$, we have

$$
Q\left(m^{p+1} x\right)=m^{2} Q\left(m^{p} x\right)=m^{2}\left(m^{p}\right)^{2} Q(x)=\left(m^{p+1}\right)^{2} Q(x) .
$$

From this we prove by induction formula (2) ([1], [4]).

## 2. Hyers-Ulam quadratic stability

Theorem 2.1. Let $X$ and $Y$ be real normed linear spaces. Assume that $Y$ is complete. Let $0 \neq a=\left(a_{1}, a_{2}, \ldots, a_{n}\right) \in \mathbb{R}^{n}$ be fixed with $1<m=\sum_{i=1}^{n} a_{i}^{2} \neq$ $\left[1+\binom{n}{2}\right] / n$, where $n$ is arbitrary but fixed and equals to $2,3,4, \ldots$, and $0<m$ $<1$. Assume that $f: X \rightarrow Y$ is a mapping for which there exists a constant $\varepsilon \geq 0\left(=a\right.$ constant independent of $\left.x_{1}, x_{2}, \ldots, x_{n} \in X\right)$ such that the functional inequality

$$
\begin{equation*}
\left\|f\left(\sum_{i=1}^{n} a_{i} x_{i}\right)+\sum_{1 \leq i<j \leq n}^{n} f\left(a_{j} x_{i}-a_{i} x_{j}\right)-m \sum_{i=1}^{n} f\left(x_{i}\right)\right\| \leq \varepsilon \tag{5}
\end{equation*}
$$

holds for every vector $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in X^{n}$. Then the limit

$$
Q(x)=\lim _{p \rightarrow \infty} \begin{cases}m^{-2 p} f\left(m^{p} x\right), & \text { if } 1<m \neq\left[1+\binom{n}{2}\right] / n,  \tag{6}\\ m^{2 p} f\left(m^{-p} x\right), & \text { if } 0<m<1\end{cases}
$$

exists for every $x \in X$ and $Q: X \rightarrow Y$ is the unique quadratic mapping with respect to $a$, such that

$$
\begin{equation*}
\|f(x)-Q(x)\| \leq c \tag{7}
\end{equation*}
$$

holds for every $x \in X$, where

$$
\begin{equation*}
c=\frac{1}{2} \frac{2 m\left|m n-\left[1+\binom{n}{2}\right]\right|+m(n-1)|2 m-n+2|+2\left\{\left|m n-\left[1+\binom{n}{2}\right]\right|+\binom{n}{2}\right\}}{\left|m^{2}-1\right|\left|m n-\left[1+\binom{n}{2}\right]\right|} \varepsilon . \tag{7a}
\end{equation*}
$$

Denote $c_{1}=c$, if $1<m \neq\left[1+\binom{n}{2}\right] / n:\left|m^{2}-1\right|=m^{2}-1$ and

$$
\left|m n-\left[1+\binom{n}{2}\right]\right|= \begin{cases}m n-\left[1+\binom{n}{2}\right], & \text { if } m>\frac{1+\binom{n}{2}}{n} \\ 1+\binom{n}{2}-m n, & \text { if } 1<m<\frac{1+\binom{n}{2}}{n}\end{cases}
$$

Also $c_{2}=c$ and if $0<m<1$ : $\left|m^{2}-1\right|=1-m^{2}$ and $\left|m n-\left[1+\binom{n}{2}\right]\right|=$ $1+\binom{n}{2}-m n$.

Proof of Existence. Substitution of $x_{i}=0(i=1,2, \ldots, n)$ in the inequality (5) yields that

$$
\left\|f(0)+\sum_{1 \leq i<j \leq n} f(0)-m \sum_{i=1}^{n} f(0)\right\| \leq \varepsilon
$$

or

$$
\|f(0)\| \leq \frac{\varepsilon}{\left|m n-\left[1+\binom{n}{2}\right]\right|}= \begin{cases}\frac{\varepsilon}{m n-\left[1+\binom{n}{2}\right]}, & \text { if } m>\frac{1+\binom{n}{2}}{n},  \tag{8}\\ \frac{\varepsilon}{1+\binom{n}{2}-m n}, & \text { if } 0<m<\frac{1+\binom{n}{2}}{n}: m \neq 1\end{cases}
$$

We begin with the case $1<m \neq\left[1+\binom{n}{2}\right] / n(n=2,3,4, \ldots)$.
Substituting $x_{1}=x, x_{j}=0(j=2,3, \ldots, n)$ in the inequality (5) and using
(8) and the triangle inequality one concludes the functional inequality

$$
\left\|f\left(a_{1} x\right)+\sum_{j=2}^{n} f\left(a_{j} x\right)+\binom{n-1}{2} f(0)-m[f(x)+(n-1) f(0)]\right\| \leq \varepsilon
$$

or

$$
\left\|\bar{f}^{a}(x)+\frac{1}{m}\binom{n-1}{2} f(0)-f(x)-(n-1) f(0)\right\| \leq \frac{\varepsilon}{m}
$$

or

$$
\begin{equation*}
\left\|\bar{f}^{a}(x)-f(x)\right\| \leq \frac{1}{2} \frac{2\left|m n-\left[1+\binom{n}{2}\right]\right|+(n-1)|2 m-n+2|}{m\left|m n-\left[1+\binom{n}{2}\right]\right|} \varepsilon \tag{9}
\end{equation*}
$$

where

$$
\begin{equation*}
\bar{f}^{a}(x)=\sum_{i=1}^{n} f\left(a_{i} x\right) / \sum_{i=1}^{n} a_{i}^{2} \tag{10}
\end{equation*}
$$

is the square of the quadratic weighted mean of $f$ with respect to $a$.
In addition, replacing $x_{i}=a_{i} x(i=1,2, \ldots, n)$ in the inequality (5) and using (8) and (10), as well as the triangle inequality, one gets the functional inequality

$$
\left\|f(m x)+\binom{n}{2} f(0)-m \sum_{i=1}^{n} f\left(a_{i} x\right)\right\| \leq \varepsilon
$$

or

$$
\left\|\bar{f}^{a}(x)-m^{-2} f(m x)-\frac{1}{m^{2}}\binom{n}{2} f(0)\right\| \leq \frac{\varepsilon}{m^{2}}
$$

or

$$
\left\|\bar{f}^{a}(x)-m^{-2} f(m x)\right\| \leq \frac{\left|m n-\left[1+\binom{n}{2}\right]\right|+\binom{n}{2}}{m^{2}\left|m n-\left[1+\binom{n}{2}\right]\right|} \varepsilon .
$$

From this, (7a) and (9), as well as the triangle inequality we get the basic inequality

$$
\left\|f(x)-m^{-2} f(m x)\right\| \leq\left\|f(x)-\bar{f}^{a}(x)\right\|+\left\|\bar{f}^{a}(x)-m^{-2} f(m x)\right\|
$$

or

$$
\begin{equation*}
\left\|f(x)-m^{-2} f(m x)\right\| \leq c_{1}\left(1-m^{-2}\right) \tag{11}
\end{equation*}
$$

By induction on $p \in \mathbb{N}$ we prove that the general functional inequality

$$
\begin{equation*}
\left\|f(x)-m^{-2 p} f\left(m^{p} x\right)\right\| \leq c_{1}\left(1-m^{-2 p}\right) \tag{12}
\end{equation*}
$$

holds for every $x \in X$, any $p \in \mathbb{N}$, as well as $1<m \neq\left[1+\binom{n}{2}\right] / n: n=2,3,4, \ldots$.
The sequence $\left\{f_{p}(x)\right\}: f_{p}(x)=\left\{m^{-2 p} f\left(m^{p} x\right)\right\}$ converges, because $Y$ is complete and this sequence is clearly a Cauchy sequence. Hence $Q=Q(x)$ is a welldefined mapping via the formula (6). This means that the limit (6) exists for every $x \in X$.

In addition, we claim that mapping $Q: X \rightarrow Y$ satisfies the functional equation (1) for every vector $\left(x_{1}, x_{2}, \ldots, x_{n}\right) \in X^{n}$.

In fact, it is clear from the functional inequality (5) and the limit (6) that the inequality
$m^{-2 p}\left\|f\left(\sum_{i=1}^{n} a_{i} m^{p} x_{i}\right)+\sum_{1 \leq i<j \leq n} f\left(a_{j} m^{p} x_{i}-a_{i} m^{p} x_{j}\right)-m \sum_{i=1}^{n} f\left(m^{p} x_{i}\right)\right\| \leq m^{-2 p} \varepsilon$,
holds for every $x_{i} \in X(i=1,2, \ldots, n): n=2,3,4, \ldots$, and any $p \in \mathbb{N}$. Therefore from this inequality one gets

$$
\left\|Q\left(\sum_{i=1}^{n} a_{i} x_{i}\right)+\sum_{1 \leq i<j \leq n}^{n} Q\left(a_{j} x_{i}-a_{i} x_{j}\right)-m \sum_{i=1}^{n} Q\left(x_{i}\right)\right\|=0
$$

thus the mapping $Q: X \rightarrow Y$ satisfies the functional equation (1) for every $x_{i} \in X$ $(i=1,2, \ldots, n)$. Thus $Q$ is a quadratic mapping with respect to $a$. It is now clear from (12), (6) and letting $p$ tend to $\infty$ that inequality (7) holds in $X$, completing the existence proof.

Proof of Uniqueness. Let $Q^{\prime}: X \rightarrow Y$ be a quadratic mapping satisfying (7), as well as $Q$. Then $Q^{\prime}=Q$.

To do this remember that both $Q$ and $Q^{\prime}$ satisfy (2), too. Then from this and (2) one proves that

$$
\begin{aligned}
\left\|Q(x)-Q^{\prime}(x)\right\| & =\left\|m^{-2 p} Q\left(m^{p} x\right)-m^{-2 p} Q^{\prime}\left(m^{p} x\right)\right\| \\
& \leq m^{-2 n}\left\{\left\|Q\left(m^{p} x\right)-f\left(m^{p} x\right)\right\|+\left\|f\left(m^{p} x\right)-Q^{\prime}\left(m^{p x}\right)\right\|\right\} \\
& \leq 2\left(m^{-2 p}\right) c_{1} \rightarrow 0
\end{aligned}
$$

holds for every $x \in X$, and any $p \in \mathbb{N}$. Thus $p \rightarrow \infty$ completes the proof of the stability since $1<m \neq\left[1+\binom{n}{2}\right] / n$.

Consider now the case $0<m<1$.

We write $b_{i}=a_{i} / m(i=1,2, \ldots, n), b=\left(b_{1}, b_{2}, \ldots, b_{n}\right)$ and

$$
\begin{equation*}
\bar{f}^{b}(x)=\sum_{i=1}^{n} f\left(b_{i} x\right) / \sum_{i=1}^{n} b_{i}^{2} \tag{13}
\end{equation*}
$$

From (8) and (13) and the substitution of $x_{1}=x / m, x_{j}=0(j=2,3, \ldots, n)$ in inequality (5) we get

$$
\left\|\sum_{i=1}^{n} f\left(\left(a_{i} / m\right) x\right)+\binom{n-1}{2} f(0)-m\left[f\left(m^{-1} x\right)+(n-1) f(0)\right]\right\| \leq \varepsilon
$$

or

$$
\begin{equation*}
\left\|\bar{f}^{b}(x)-m^{2} f\left(m^{-1} x\right)\right\| \leq \frac{m}{2} \frac{2\left[1+\binom{n}{2}-m n\right]+(n-1)|n-2-2 m|}{1+\binom{n}{2}-m n} \varepsilon . \tag{14}
\end{equation*}
$$

In addition, replacing $x_{i}$ by $\left(a_{i} / m\right) x(i=1,2, \ldots, n)$ in inequality (5) and applying (8) and (13), as well as the triangle inequality, one derives the functional inequality

$$
\left\|f(x)+\binom{n}{2} f(0)-m \sum_{i=1}^{n} f\left(\left(a_{i} / m\right) x\right)\right\| \leq \varepsilon
$$

or

$$
\left\|\bar{f}^{b}(x)-f(x)-\binom{n}{2} f(0)\right\| \leq \varepsilon
$$

or

$$
\left\|\bar{f}^{b}(x)-f(x)\right\| \leq \frac{1+2\binom{n}{2}-m n}{1+\binom{n}{2}-m n} \varepsilon
$$

Thus from this and (14) we get the basic inequality

$$
\left\|f(x)-m^{2} f\left(m^{-1} x\right)\right\| \leq\left\|f(x)-\bar{f}^{b}(x)\right\|+\left\|\bar{f}^{b}(x)-m^{2} f\left(m^{-1} x\right)\right\| \leq c_{2}\left(1-m^{2}\right)
$$

By induction on $p \in \mathbb{N}$ we prove that the general functional inequality

$$
\left\|f(x)-m^{2 p} f\left(m^{-p} x\right)\right\| \leq c_{2}\left(1-m^{2 p}\right)
$$

holds for every $x \in X$, any $p \in \mathbb{N}$ and $m \in(0,1)$.
The remaining part of the proof in this case $0<m<1$, is omitted as similar to the corresponding proof of the previous case $1<m \neq\left[1+\binom{n}{2}\right] / n$.

## Remarks.

1. If $n=2: a_{i}=1(i=1,2)$ or $m=2$, then $c=c_{1}=\frac{11}{6} \varepsilon$.
2. If $n=2: a_{i}=\frac{1}{2}(i=1,2)$ or $m=\frac{1}{2}$, then $c=c_{2}=\frac{11}{3} \varepsilon$.

Note that in these cases a better constant $c=\frac{1}{2} \varepsilon$ may be found if new substitutions of $x_{i}=x(i=1,2)$ are applied into (5).

Acknowledgement. We are grateful to the two referees of this paper for their valuable comments.

## References

[1] J. AczÉL, Lectures on functional equations and their applications, Academic Press, New York and London, 1966.
[2] G. L. Forti, Hyers-Ulam stability of functional equations in several variables, Aequationes Math. 50 (1995), 143-190.
[3] P. M. Gruber, Stability of Isometries, Trans. Amer. Math. Soc. 245 (1978), 263-277.
[4] D. H. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941), 222-224; The stability of homomorphisms and related topics, In: Th. M. Rassias (ed.), Global Analysis - Analysis on Manifolds, Teubner-Texte zur Mathematik, 57 (1983), 140-153.
[5] J. M. Rassias, On Approximation of Approximately Linear Mappings by Linear Mappings, J. Funct. Anal. 46 (1982), 126-130.
[6] J. M. Rassias, On Approximation of Approximately Linear Mappings by Linear Mappings, Bull. Sc. Math. (2), 108 (1984), 445-446.
[7] J. M. Rassias, Solution of a Problem of Ulam, J. Approx. Th. 57 (1989), 268-273.
[8] J. M. Rassias, Complete Solution of the Multi-dimensional Problem of Ulam, Discuss. Math. 14 (1994), 101-107.
[9] J. M. Rassias, Solution of a Stability Problem of Ulam, Discuss. Math. 12 (1992), 95-103.
[10] J. M. Rassias, On the Stability of the Euler-Lagrange Functional Equation, Chinese J. Math. 20 (1992), 185-190.
[11] J. M. Rassias, On the Stability of the Non-linear Euler-Lagrange Functional Equation in Real Normed Linear Spaces, J. Math. Phys. Sci. 28 (1994), 231-235.
[12] J. M. Rassias, On the Stability of the Multi-dimensional Non-linear Euler-Lagrange Functional Equation. In: J. M. Rassias (ed.), Geometry, Analysis and Mechanics, World Sci. Publ., 1994, 275-285.
[13] J. M. Rassias, On the Stability of the General Euler-Lagrange Functional Equation, Demonstratio Math. 29 (1996), 755-766.
[14] J. M. Rassias, Solution of the Ulam Stability Problem for Euler-Lagrange quadratic mappings, J. Math. Anal. Appl. 220 (1998), 613-639.
[15] J. M. Rassias, Solution of the Ulam stability problem for quartic mappings, Glasnik Mat. Ser. III 34 (54) (1999), 243-252.
[16] S. M. Ulam, A collection of mathematical problems, Interscience Publishers, Inc., New York, 1968, p. 63.
J. M. Rassias

Pedagogical Department, E.E.
National and Capodistrian University of Athens
4, Agamemnonos Str.
Aghia Paraskevi
Athens 15342
Greece
e-mail: jrassias@primetu.uoa.gr
Manuscript received: February 15, 2000 and, in final form, April 4, 2001.

